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(i) FeT QI g & 3T AT | b @US G §1 7T XA A &

(ii) TH T & HEGHTE |

(i) T AT FeAFeAeT Ard ST qHet & |

(i) Answer five questions in all. Two questions from each section are mandatory.
(ii) All questions carry equal marks.

(iii) Non-programmable calculators can be allowed.-

queg — I
SECTION - A
STgcdl 0T o GHFTIC 38T THE qard | 08
WX 3T T W TR ITet 7T B Bl IS % THIad 37 & qe 6l 98 % JAged
Tt Bl MUAT A | S H FTHHA M TN AL © | 24
fep | TR §U 31T & AET Tt B & STecdl AV (eplierd | 08

State parallel axis theorem for moment of inertia.
Calculate moment of inertia of a beam of mass M and length L about an axis

passing through its center of mass and perpendicular to it.
By using theorem of parallel axis, calculate the moment of inertia of the same

beam about the edge.

Tt & fafire fagr @t ger uReeqTs B 3 §U TRST TR0 HHIHON i
fremfee it | 20
TS I AT Yea W § WehIeT oy bt gl UX U WIS Hl AR HIAT & | A SHcANe
I ve fafved =9t v = 0.8 ¢ § Hefal € at 3iReT I U 37T h AT H GG 6 a9
AT & | 8 WY Y Bl T8 T 6 o W G T HA Wb g, STafeh I H Al ¢ ¥

qHa e 2 10
UF Tt % Qe Gnifie fa ¥ e aret e §R1 3@ T e 6 AHR 9T
BT | 10

Stating basic postulates of special theory of relativity derive the Lorentz

transformation equations. _
An astronaut takes a trip to Sirius located at a distance of 8 light year from the

earth. The astronaut measures the time of one way journey equal to 6 year when
the space ship moves at a constant speed of v = 0.8 c. How can the 8 light year
distance be reconciled with a 6 year time when the speed is less than ¢ ?

Find the shape of a sphere as seen by an observer moving with a relativistic speed

with respect to sphere.
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3. (3N piwren fafeor 8 wi g Femfed Fe o 9k 6 98 suge el Wi g
a1 g 7t -5 g 0 fefud gt s o 20

@ fafore oar 5 qused & Qe aRadT & J9ET | 50 K | 5000 K d% @i a9 | §

U fgoemes 19 (H,) 1 fafire S & uRads i 3faa 7 @ oners w9 9 e

T | 20

(a) Derive the Planck’s formula for black body radiation and show that it reduces to
Wien’s formula and Rayleigh-Jean’s formula for different wavelength ranges.

(b) Explain the variation of specific heat with temperature. Draw qualitatively an
appropriate plot of variation of specific heat cf a diatomic gas (H,) over

temperature range 50-5000 K.

4. (30 frdl A FAHA 5 favaeamdt GOR &9 9 HH 9 SRl & famr gva @l ) Sefe
eat wrisrT gugut yrved | a1 fordt Sute o waiid giar & | 39 R ot gwemee | 8
() UH GHAA GRS UET H 500 e+ wia foet & qen 39 wai & ford vaienen § 3wt
foRaT ST & | Yo UhIeT 1 GHA a0 (390 nm ¥ 780 nm) UfST & FUR mafad grar
ol
(i) =400 nm % {3 TeeH &I AfuwHad wifc ®T8 2
(i) TR (W) & feg 7E & ol S aftrd aoree A = 400 nm % WERH H
ﬁ%zx’wﬁ%ﬁiﬁ%?
(i) AT 3RS (Opaque) 9T =t 1T (slit) T dvers & It 7T er &Y fear s at
ez i DI Tl hifedl S AR & 2
(iv) “avl %" @l IT Hile & fod faedqor (dispersion) ot SR ' 1 gfe
Hif | 8x4=32

(a) Worldwide transmission of a single TV program is not possible without a
minimum of three satellites, while a radio program is broadcasted all over the
world without the use of any satellite. Explain the difference.

(b) A plane transmission diffraction grating having 500 lines per mm is used in a
laboratory experiment. A plane wave front of white light (390 nm to 780 nm) is
incident on the grating.

(i) What is highest order of spectrum that can be observed for the wavelength
of A =400 nm ?

(i) With which wavelength (A”) does the above mentioned wavelength A =
400 nm coincide in its third order of spectrum ?

(iii) What orders of spectra are found to be absent if the width of opaque part is
double the slit width ?

(iv) “Higher the order of spectrum, higher will be the dispersion.” Justify.
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gug-dq
SECTION - B

5. (3) U I GAlTh UPUSE THAA & GHET d T W Uh fog 3MmavT q 3@1 7 & | QoA
% Tre fordt o fog W fava, Todel W S SMAW e a1 oA AV Ue fag

AT & WA o o Fef 7 STeh UTad Hit | 20

(@) FEEE H TedgH-Hel Il H GEA exp[-E/KT] % GHA il € | SRAtE
(Eg = 0.7 V) | 371a¥ deshi i H& H qReci I Ufcreiaar s TMT i afg ama

27°9. 9§ 47° Q. 7 URafad gt g | 10

(W) UH vad® & ol Uk Al 60 dB ¥ | A AT 81 W & | 20% H1 uiad &
W%ﬂ}wm(closedloopgain)wqﬂﬁﬁaﬁﬁﬁﬁﬂﬁlﬁqﬁaﬁ?ﬂﬁ

2% @I | 10

(a) A point charge q is placed at a distance d from an infinite conducting grounded
plane. Find the potential at a point above the plane, induced charge density and
total charge on the plane, and expression for force between charge and plane.

(b) The number of electron — hole pair in germanium is proportional to exp (—Eg/kT).
Estimate the percentage change in the number of carriers in germanium
(Eg = (0.7 eV) when temperature changes from 27 °C to 47 °C.

(¢) An amplifier has an open loop gain (power gain) of 60 dB. If this gain changes by
20% due to aging effect, calculate necessary feedback (closed loop gain) required
to reduce this change only to 2%.

6. (3 FErER U faar & TR 1 Aeds T ¥ Uk GHYSS H ©: IS Bl 3 TR
ST ST ¢ foh TSI ST W 0.5 it oeg 1 gHarg s 59 ST iR e 2w
! R FETled 81 W s W S~ b &1 (B) N HH WKl I | 20

0.5m

T T o6 afs 31 3mavil & T o did 9o 8 o 1 +an F = K/t feran
ST ST&T n # 2 & T IToRd 1 2 10
@) A H GHRE Haw H gereihl i fEd el a1 9g4 % 6 Sgdl 8 Sl
T SMEe & ATAR 3o A1 O A9 9@ & 9 foRld arethar wedl gg wral St

&, THERY Al | | 10
(a) A star like network is constructed by extending each of six sides of regular

hexagon and forming equilateral triangle on the original side of length 0.5 m and a

current of 2A is passed through closed circuit. Obtain the value of magnetic

induction at the centre.

/\O.Sm

/ 4 .
o/ N side of original regular
{ ; hexagon 0.5 m
\\ ",0
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Explain, what makes it wrong if Coulomb’s law for the force between two charges
is written as F = K/ with n # 2.
Under normal condition of temperature, electrical conductivity of a semiconductor

increases with increase in temperature. However, in the high temperature range, a
decrease in conductivity is observed with increase in temperature. Explain why.

dien 1016 83T sngfa &t forga graera a0 & fow ueh gererss i @wE 3R] 1020 g8 i
T % 9T WA i aXE HERR T €, TR | 10
ferg it T Faten @b T wed g = ye ko) Uk qo Fo1 & feR ad
THIHLOT o Rt 315w &l i geIfar € | 10
UEE o U m,, form s=mm ot seiee @ 3o fv V@ @Rd e W SE
Shstredt T 98 8t A = h/[2myeV {1 + eV/(2m,C2)} ]2 STl e FeiagH I 3TaT T

C Fafd H Wt & e 7 | 20
Copper behaves as good conductor for electromagnetic waves of frequency
1016 Hz but as dielectric for frequency 102° Hz. Justify for this behaviour.

Show that the quantum mechanical wave function y = y,e*©) represents a
stationary state solution of the Schrédinger equation.

Show that the deBroglie wavelength of an electron of rest mass m,, accelerated
through a high electric potential of V volts is 2 = h/[2meV {1 + eV/(2m,C?)}]'2,

e being electronic charge and C, the speed of light in vacuum.

qIRAS F HW & ITAR H T fafy § 7S & IR § Hegqigdt amaeq (1-131) &
=TT fean ST ¥ | fepelt Sifaes fpam T IR ST @t =REdis 9§ gifdad
el & ot o 3y 7 fgm1 € Sl smie ot g 8 A € 1 AT wiseanstt &
ek woE F fepe T | edivdt SRISH 1 W WIS & WR | IRE9S A= &

0.1% & S ? 20
P YA T € ? HiFe ¥ g HeTeh U HIT | GHEATST o DA R 45T
AT e e B g ot e ye ged fafevor § sfda A et wrar ¥ 20

Treatment of thyroid cancer is also done by injecting radioactive iodine (I-131) in
the body of the patient. Through the biological process the body excretes iodine
exponentially with a half life of 7 days while the half life of radioactive iodine is
8 days. How long it will take to reduce the level of radioactive iodine to 0.1% of
its initial dose in the patient as a cumulative effect of the two processes ?

What is the Compton effect ? Derive the expression for Compton shift. Explain
why Compton effect cannot be observed in visible radiation though the expression

does not dependent on wavelength.
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